Abdulsamed Sulayici
Evaluate the main factors that determined the outcome of the May 2015 General Election.

[bookmark: _GoBack]P1/Point: Ruthless Conservative campaign undermined opponents. The effective campaign led to the Tory success. - The economic performance of the Tory’s was a factor- many thought them the safer bet having reduced unemployment since 2010.
Evidence:  The Tories' strength on the economy was at the heart of the party's election victory. The foundations for their success were laid in 2010 when the party exploited Labour's implosion after Gordon Brown's defeat to attack Labour's economic record: "They are the party that crashed the economy," the message ran. "We are the ones with the long-term economic plan." Over the course of the Coalition, the Tories built their economic credibility under George Osborne by cutting spending and implementing austerity measures. As a result, Britain has enjoyed the fastest rate of growth in the G7 group of developed countries with record numbers of jobs. 
Explain:  50% of the electorates were floating voters before the election, according to ISPOS MORI. This means that short term factors are now more important so campaigns have a huge impact on such voters that are undecided until the very final days of the election. The Conservative election campaign was so successful that they received a significant proportion of the votes from the working class. In the 2015 general election, 27% of class DE voted Tory, 32% of C2 and 41% of C1. These are electorates that are not normally associated with the Conservative Party. These electorates are referred as deviant voters and even working class Tories which helped the Conservatives to win. This rejects the party identification theory as it shows the existence of class/party de-alignment, therefore short term factors has enabled the Conservative party to ‘catch all’ votes from electorates from different social classes as de-alignment made party leader/campaigns probably the most important factor for voting behaviour.  This has significantly determined the outcome of the election. This links to Prospective Voting which argues that people vote for the candidates they believe will do the most to help the country in the next few years. 
Counter:  Deviant voters always existed. Without the support of the working class, the Conservatives would never have won the election in the 1950s or 60s. +41% of class DE still voted for Labour which shows that class-alignment still exists.
P2/Point: Conservative victory was due to Ed Miliband’s weak leadership - Labour lost 26 seats in the election. 
Evidence:  Ed’s appearance, stuttering and not being able to eat bacon sandwich properly – bad image – not charismatic. 
Explain:  Starting from around the 1960s, media became a big part of politics, this means that people can now know more about the characteristics of politicians (personality has become more important). The people do not tend to vote for uncharismatic leaders so Labour suffered as a result of this. If we compare this to David Cameron, he seemed much more relaxed and confident probably due to his experience as party leader since 2005 and being the PM since 2011. People began to realise that Cameron is significantly more popular than his own party and Ed Miliband was significantly unpopular than his party. This gave him an advantage over Ed Miliband and certainly did affect the overall outcome as Conservatives received 2 million more votes than Labour. Also, the fact that the Conservatives had the mass media supporting them gave them an extra advantage. The bacon sandwich pictures were leaked by the Evening Standard Newspaper which is known for its right wing commentary. This supports the Hegemonic theory which states that because the institutions of the mass media are owned by the ruling class, the media exists to serve the interests of the ruling classes. It also supports the manipulative theory which is the idea that the media manipulates public opinion through a range of techniques: selective news stories, influencing by headlines and selection of images/footages. Therefore, the media did not work to the advantage of Labour, it damaged Miliband’s image and gave the Conservatives an advantage hence why the Tories achieved a large majority.
Counter:  David Cameron was also criticised by the media, especially by left-wing media groups so many argued that it was a fair contest e.g. Russell Brand made a video supporting Miliband and got over a million views on YouTube (maybe in your conclusion you can say media/party leader was the most important as the election results show that Conservative campaigns were more effective and Labour’s campaigns were seen ineffective).
P3/Point: Issue voting had a massive impact on this election. Labour lost significant number of seats in Scotland.
Evidence:  SNP won in Scotland by gaining 50 seats, by taking 40 seats from Labour and 10 seats from LibDem. Also, UKIP gained 4,000,000 votes in the election. UKIP’s success did not necessarily have a huge impact on the election as they only received 1 seat due to our disproportionate electoral system FPTP but it certainly did make it difficult for Labour to win in some constituencies.
Explain:  SNP essentially got the votes because of their campaign for independence. In the 2014 Scottish independence referendum, 45% of the electorates voted yes for independence. This means that SNP had a head start in the election as they were obviously going get at least 45% of the people’s support in Scotland. This is evidence for how weak the Labour Party was during the general election and shows that many swings were happening to other parties, their weaknesses limited their chance of success. This shows the impact of issue voting on the outcome of the election. 
Counter: This shows the big impact of issue voting but ultimately is evidence for the weaknesses of Labour Party (weak leadership and campaigns). If Labour appeared to be more effective at campaigning and had a more charismatic leader, then perhaps results may have been different i.e. another election or even a minority government. 
Sir’s Comment:
This is much improved with excellent theoretical understanding balanced with well-chosen evidence - very complex.
I would suggest you add a small paragraph showing an understanding that young people voted labour and old conservative (or something about ethnicity and voting) - but conservative were ultimately successful as they got the higher turnout amongst their key social groups and won the floating voters- they achieved this due to the short term factors of having a stronger leader and stronger campaign. (This could be your conclusion).
Evidence for this: Evidence for alienation amongst traditional key Labour social groups can be seen by the works of ISPOS MORI polling, which stated that in the 2015 general election, only 57% of class DE voted compared to 75% from class AB, only 56% of BMEs voted in the election compared to an overall average of 66.1% and only 43% of 18-24 year olds voted compared to 78% by 55+ aged electorates.  This shows that some of the young, BMEs and poorer citizens from Class DE were all affected by the democratic deficit and decided not to vote – this gave an advantage to the Conservatives as their traditional key social groups had much higher turnout – the rich, old and non-BME citizens.




